

$$\lim_{n \rightarrow 2} \frac{1}{0^+} = -\infty$$

منبرج با بر رشم
نفا فله رشم با بر

$$\Rightarrow (n-2)^2 = n^2 - \epsilon n + \epsilon$$

$$a = -\epsilon \quad b = \epsilon \quad a + b = 0$$

۱

$$\lim_{n \rightarrow \sqrt{e}} \frac{\sqrt[3]{e}}{0^+} = +\infty$$

رشم نفا ع

$$\delta = -a = 2\sqrt[3]{e} \Rightarrow a = -2\sqrt[3]{e}$$

$$\left(\frac{\sqrt[3]{e}}{-2\sqrt[3]{e}}\right)^2 = \left(\frac{-1}{2}\right)^2 = -1$$

$$p = b = \sqrt[3]{e} \wedge \sqrt[3]{e} = 2\sqrt[3]{e}$$

$$\lim_{n \rightarrow \frac{1}{\sqrt{e}}} \frac{a-1}{\left|\frac{1}{n} + a\right| + a} = -\infty$$

با بر منبرج رشم رشم
منبرج

$$\Rightarrow \frac{1}{n} + 2a = 0 \quad a = -\frac{1}{4} \quad [a] = -1$$

۳

$$n > -\frac{1}{4} \Rightarrow n^2 < \frac{1}{\epsilon} \Rightarrow n^2 > \epsilon \Rightarrow \frac{-2}{n^2} < -1$$

$$n > -\frac{1}{4} \rightarrow n^2 < \frac{1}{\epsilon} \Rightarrow \frac{1}{n^2} > \epsilon \Rightarrow \frac{3}{n^2} > 12$$

$$\lim_{n \rightarrow -\frac{1}{4}^+} \frac{17n+9}{2\epsilon n+12} = \frac{1}{0^+} = +\infty$$

۴

$$\lim_{n \rightarrow 2^+} \frac{(n-2)(n+2)}{(n-2)(n^2+2n+4)} = \frac{2}{12} = \frac{1}{6}$$

۵

$$\lim_{x \rightarrow -1} \frac{x^2 + 1 - x + 1}{1 + \sqrt{x}} \stackrel{\frac{0}{0}}{=} \lim_{x \rightarrow -1} \frac{x^2 + 1 - x + 1}{1 + \sqrt{x}} \stackrel{\text{Hop}}{=} \frac{x^2 + 1 - x + 1}{1 + \sqrt{x}} = \frac{-4}{2} = -2$$

6

~~$$\lim_{x \rightarrow 0} \frac{\sqrt{x+1} - \sqrt{1-x}}{\sqrt{1-\cos x}} \cdot \frac{\sqrt{x+1} + \sqrt{1-x}}{\sqrt{x+1} + \sqrt{1-x}} = \frac{x}{2\sqrt{x}} = \frac{\sqrt{x}}{2}$$~~

7

$$\lim_{x \rightarrow 0} \frac{\sqrt{x+1} - \sqrt{1-x}}{\sqrt{1-\cos x}} \cdot \frac{\sqrt{x+1} + \sqrt{1-x}}{\sqrt{x+1} + \sqrt{1-x}} = \frac{x}{2\sqrt{x}} = \frac{\sqrt{x}}{2}$$

8

$$\lim_{x \rightarrow 0} \frac{x + \cos(\sqrt{x} x)}{1 + x} \stackrel{\frac{0}{0}}{=} \frac{x + 1 - \frac{ax^2}{2}}{1 + x} \stackrel{\frac{0}{0}}{=} \frac{-ax}{1 + x} = \frac{-a}{1} = -a$$

9

$$\begin{aligned} -1^+ &\Rightarrow \frac{1+k}{0^-} = -\infty & 1+k > 0 &\Rightarrow k > -1 \\ -1^- &\Rightarrow \frac{1+k}{0^+} = -\infty & 1+k < 0 &\Rightarrow k < -1 \end{aligned}$$

10